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. 224+16+88+54="7"

9876 — 5432 =7

2000 — 1984 =7

Ix6="7

T x7="7

63+7="7

72+6=7

13424 -39427="7"

294+29429429429 429 + 66 = 7

2x3+3x54+5xT7T+7Tx11="7

2248 x25="7

37 x (91 — 88) =7

7 x (63+36) = ?

92 -4="7

1001 +=7=7
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16. Form a largest 5-digit even number by using the number cards below. [2.0%)]

FIVATE #) S5 4 — B e KR8 BAZ R I o

9 0 1 [

17. How many pair(s) of parallel lines are there in the figure below? [2.1%]

TEA % VTR ?

18. Nathan spent 1314 dollars on shopping yesterday. He spent 5796 dollars today more [2.2%]

than yesterday. How much money did he spend in these two days?

MERAKMILT 1314 TABYE » S RILEXR ST 5796 7T o M RMBELEH XL

T%F4?
19. What is the capacity of each cup in mL? [2.3%)]

— BT ERXS S EI;T

~

: JUyyg
p — 00U

20. A bag of sugar weighs 15 kg. A bag of flour weighs 21 kg. How heavy in kilograms [2.4%]

are 7 bags of sugars and 8 bags of flour altogether?

—RBEEFISAT —REHTANT METRERS RIaHEELZIAT?
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A tablet computer costs 4999 dollars. Buying 2 tablet computers at the same time [2.5%)]
will receive a discount of 800 dollars. How much should you pay for buying 7 tablet

computers?

—3 TR EMEAR 4999 Lo ERIAH 800 e - B 7T HTFREMEHAZ I A?

A cupcake costs 29 dollars. If Tiffany buys half a dozen cupcakes, how much does [2.6%)]
she have to pay?

—EHAEREEE 29 T e R DGR FITHRMEE  FZLE T

Alice has 6 grandchildren. She made 81 cookies in the morning. If she wants to give [2.7%)]
all the cookies to each of her grandchildren and each of her grandchildren must get
the same number of cookies, at least how many more cookies does she have to make

in the afternoon?

RRYA 6 BAHRT c ARFLMET 81 &8 o o RIWHBIATA 8- F35 5

LR HERRT  WETFESRSES PG4 ?

The flight time from Hong Kong to Singapore is 3 hours 48 minutes. If the flight [2.8%]
arrived at Singapore at 11:05 pm, when did the flight take off? (Answer in 24-hour

time)

PEF BB B I 0 RATIF M T 3 N BF 48 948 o w R ARMAR L 11 85 5 2 3KE %
Aedk o B B ERALR? (2L 24 D EFIREFHIAEE)

P.3
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25. Find the missing number. [2.9%]

EEEs & SR o

3 km &8) m = ! m

26. What is % of 917 [3.0%]

9185 = %5 °?

3| w

27. Amy has 9 dollars less than Betty. Betty has 11 dollars more than Candy. If Candy [3.1%)]

has 13 dollars, how much money do the three girls have altogether?

P Y 9OA s ZHES 11 TeowRARA I3 A ZAEFELZIA?

28. Jeff has 17 cookies. Eric has 11 cookies. How many cookies does Jeff have to give [3.2%)]

Eric so that the boys have the same number of cookies?

DRAE TR KAKH 11 R o AL RBERS S TR 0 & Tl b
%A 6 e+ F B AR 2

P. 4
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29. Write the fraction that represents the shaded part in the figure.

BPFeRagbaeBnirii?

[3.3%]

30. & and # are two different even numbers, and © is an odd number such that & < O < #.[3.4%)]

Which of the following will always give an odd number?

A M RERELIFAGER > ORZ—EEH > ML <O < b ATH—1E

a9 ug

sb R B H?
() (O + ) x &
(i) (40— &) x O
(i) (M — Q) x &
(iv) (M+&—0) = (—V+ W)
(V) (+h) = (h— &) =2

A. (ii) only B. (iv) only C. (i) and (iii) D. (iv) and (v) E. (v) only

P.5
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Find the missing number in the pattern. [4.0%]

RABEHAE » BBEHRE T -

89.55.34. 2  13.8.5.3.2.1,1

Find the value of 64 x 2017 + 36 x 2017. [4.1%)]

K 64 x 2017 + 36 x 2017 8944

Cutting a wooden stick into 3 pieces needs half an hour. How many minutes does it [4.2%)]

take to cut the wooden stick into 6 pieces?

A — AR ER 3 ERF DI - H—IERIFER 6D RERS Vo ?

What is the remainder when 314159265358979 is divided by 97 [4.3%]

314159265358979 &4 9 89EREE % F ?

The weight of 3 microwaves and 4 teleisions is equal to the weight of 40 laptops. The [4.4%)]
weight of a television is equal to the weight of 7 laptops. How many laptops does a

microwave weigh?

ZHBAE A IR TARNEE  FAOTRFRCEOEE  —BTARYE
T FALHFREMOETE - —HBAN TR FA 5 I NFREWHEE?

P. 6
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There are 20 teams in a football tournament. How many football matches are there [4.5%)]

if every team has to play against each of the other teams exactly once?

— BRI EAR 20 LK% > wRFXRKBHR BRI LR BILE—K > HLaL
H%IHLE?

Jane will read either 1, 2, 3, 4, or 5 story books every day. If she wants to finish [4.6%)]

reading 9 story books in three days, how many different ways are there?

DR EMF 1A 2K 3K 4 AR, ARFZT  EAZXZRMFE9
RKEHSVEFZE?

If each letter represents a different digit, then what 3-digit number does “ABC” [4.7%)]
represent?
ATHXF » HEELFFAREKFFGET o B TABCJ RAM—B =428 ?

A A

B B
+ Cc C
B C

There are some apples, oranges, and bananas in a large basket. If 13 of them are not [4.8%]
apples, 21 of them are not oranges, and 18 of them are not bananas, then how many

fruits are there in the basket?

—EBRETEDA —LAR - BFEFE - LT BELTRAR 21 ALK A
ISELAEE  MEEFEDH S VEAR?

p.7
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40. Student A, B, C, and D are competing in the MathConceptition. After the event, [4.9%]

the four MathConceptition staff made the following claims:
Staff W: “The champion is either A or C.”
Staff X: “Student D is the champion.”
Staff Y: “The champion is among B, C, and D.”

Staff Z: “staft X is telling the truth.”

If two of the staff are telling the truth and the other two are lying, who is the
champion?
ZAABCHFDIPHAREBHRZRGPIRBEGEERL - BB — | FHILE
%> AL TAEA B A A T3k

W3k : THRERE A KL Co |

X#H: TREZD- |

Y#H: TRERELB-CRDHEF—A-]
Z#H: TEL X HTE - |

do A A TAEA R L3E + 5 SRS MR REE

End of paper



ANSWER SHEET

P3

DA Mo sean ™ Innl
b 180 m 222 | $32593 = 21
2 4444 » 111 2 $174 3 201700
» 16 ®» 693 » 3 3 /5
v 48 1w 23 | 19:17 = 5
9 5439 v 143 = 3080 » 4
© 9 1 97540 = 39 | 190
n 12 w5 2 $52 = 19
& 25 18 $8424 2 3 ) 198
0 240 ® 50 m o m 26
w 133 = 273 ® B @ C
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